. o
Notes 8.4 Area of Circles
(~ Find the Area of a Circle o iR
Words The area, A, of a circle equals the
product of m and the square of its
radius, r.
Symbols A=mnr?

\_ >,

Example 1: Find fhe.f the circle. State your answer|in terms o?’daand to the

|nearest hundredth]
A =nre Area of a circle,
A=m 22 Substitute 2 for r.,
A=m o4 Multiply.
A = 4w in? Answer in terms of .
A = 12.566 Multiply.
A=1257 Round to the nearest hundredth.

The area of the circle is approximately 12.57 square inches.

Try This:

a. Find thdarea bf a circle with a|radius of 3.2 centimeters, State your answet in terms
of mjand to theinearest hundredth. |

®,ﬂr
A=

A :’?[“(34;}‘)1
A = T (1b.a4)
A% 32,164

=

[__,qk 32.17em? |
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Example 2. Find fhe@of the face of the Virginia quarter

with ﬂ_Hiﬂﬂ'lng-r---o_f:é;:m.ill.imﬁ‘r_erg Round to the bz L
|nearest hundredth. ] o ©

The radius is %(24] or 12 millimeters.

A= mrr Area of a circle

A=me12? Substitute 12 for r.
A=me144 Multiply.

A =~ 452.389 Multiply.

A = 45239 Round to the nearest hundredth.

The area is approximately 452.39 square millimeters.

e —————

Example 3: Find the|area bf the Eﬁuded re.giua. Round to the| nearest hundredth/

Step 1: Find the area of each circle.

Area of large circle: Area of small circle:
A= nr? A= "Rr*
A =mr7= A =nd*
A=me49 A=me16
A = 153.938 = 50.265
A =~ 153.94 cm? A = 50.27cm?

Step 2: Subtract the area of the smaller circle from the area of the larger

circle.
153.94 — 50.27 = 103.67

The area of the shaded region is about 103.67 cm?.
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Try This:

b. In the following figure, the|triangle is an isosceles triangle| with its base passing
through the center of the circle. The \:_:lmme.fer of the circle is 40 cenhmeter-s}
Find thel area of the shaded region| Round to theﬁearest hundredth )

(D AeaofCi\e
A=Tri*
Pr-'rr (30

= (LIOD\

A” 1250, (,,3@
\ 13{5& .am .
e {:'LL "“( (3 ﬂcifﬂ o4 S hacled ﬂfgfoﬂ ’!.
@ F\rf;a,af ’I'Haﬂg'lﬁ A= Areaot Cirele - Arfﬁ_o(fffﬂﬁfg

A= j(bk . ﬂr 1356,6H-400 7
A= & (4030 ;5sadedr jon £ 356 il "-'"".
A= 7 (300) A[ oot Shacee HI-

e i I

[ Area of Semicircles ]

Eivd B i B w ' 1
A semicircle is half of a circle. The formula for the area of a semicircle is 4 = Em"?',

Example 4: Find 1‘he| “of the semng:_uEIe] Round to th:\in;uﬁs? m

A= % 2 Area of a semicircle.

A= %1! .82 Substitute 8 for r,

A= %n e 64 Multiply.

A= me32 Multiply. i
8in.

A = 100.530 Multiply.

A = 100.53 Round to the nearest hundredth.

The area of the semicircle is approximately 100.53 square inches.
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Try This:

fheUrsst hundredth. J il

L P 2
A' a2 W( [___..._.1___.4'
A=) S
A= L (HTr o=

_a\é o d—-

A= ST 5

5

A~ Qs.l_m3® ji
E_ge.ﬁ@
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